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it & 190 175 119
EHER 24 24 20
EFR 49 24 15
BHE 92 78 53
MEE 39 32 23
A=Y 99 79 68
BER 101 61 41
IR 53 52 32
mAR 36 36 23
HER 94 94 56
BER 46 46 40
FER 59 58 41
BRIRED 74 74 56
HENER 14 14 59
HiRE 77 75 48
EWLE 42 42 31
RIIE 16 76 46
BHE 14 14 13
T 52 40 11
RHE 48 48 23
ez B2 I 36 36 27
EEdril 13 11 43
THE 12 12 59
—EB 59 58 40
HEE 15 15 10
REBAT 16 16 14
KR FF 34 34 18
EER 49 48 35
Z=RE 52 40 30
MERLE 39 39 20
BmME 93 88 43
ERE 28 28 10
it LU 2 43 43 20
LER 183 177 62
wAag 30 30 23
EER 16 14 10
EFINE 10 10 10
pag 31 31 15
=yl 41 17 10
R 58 55 31
EER 17 17 7
RIGE 16 15 9
REARE 26 22 16
KB 20 18 16
B E 32 31 19
ERER 14 10 5
pask ] 22 18 9
&it 2,464 2,255 1,429




